HeGdliNch QU&T-£4021-22

HHIT : 3 U7 _ el 9 w:70
fag- niftra

e — e

- Are- wsft wys e siferd &
wWUZ-3T
TEfaraedta WO (T WIT 1 ot W)
1. Rl @ oo demett § g g @ v -
(%) &9 ©F g wen (@) FRfE s ot de
(71) 3 TR HEm (9) $q@ UF A W=
2. e s § ie-w wges A

(@) y2x-1 @) y+ ;— (1) 42 -3x +7  (F) 3/x-x/2

3. WP (x)=-Ox+9 & TIH & |

) 0 (@) -9 (M) -1 () 1
4. T (3+43 ) (3-y3 ) F A AW

() 3- V3 @) 3 (M 6 GG
5. 3R fredh e 9 A 2r @ &t eE SE A |

(#) +ne (@) dne m e @ Eae

6. fAguRmi £BOC=60° 24

ZBAC F 9H gl . o

(&F) 30° (") 60° 60"

() 45° (=) 120° e
7. a@:ﬁ_f’%Q?ﬁyﬂ T 9 & T YNH B

(&%) 0 (@) 1 (M) 96 (%) 95

8. Ii}iﬂaﬁramaa'm%
(@) G S () HiA SO () e e () S

o 99? -98H H &-
(F®) 1 (@) 197 () 187 (%) 207

https://www.upboardonline.com | (PT.0)

— i ——

10.

11.

172.

13.

14.

15.

16.

17.

18.

19.

20,

(x-y)* 1 T E-
() X2+y? -2%y (@) X*+y? ”2"5_' :
(M (x+y) (x-y) (d) FE T
TR xS - X+ 3 H W -
(%) 4 (@) 2 m
6x2+ 11x + 3 & TPEEA Q-
(&) (3x+1) (2x+3) (@) (x+1) (2x+3)
(M) (x+3) (2x+1) (") (3x+1) (x+1)
3 ma R #, x 3Ry 9 T HIfTC- »
(%) (50°, 130°) (@) (130°, 130°) x
() (60°, 120°) () (120°, 60°) 2N
fed M3 fom  x @ AW IW A

(%) 60° (@) 30° G
(M) 90° (") 50° 60

R (x+1), 3¢ + 2x- K & U6 UHEE 2 A K F 91 &
(%) -1 (@) 1 (Mo (9)FH IR &
af et i Tl 2x+3y=Kam &t (2,0) 8 & K & 5F 8-
() 4 (@) 6 (m s () 2
g Wi y=3x+5
(&) & R 7 2 () et & & 8
(1) 2R ¥ | S T (%) 1 & T
o vig @ fow 4 3 s S 5 Ao R & TEw TR BeE-
(%) 16m Wf0> (@) 147 A0
() 127 Fdo? (@187 Tio®
o P(E) =0.37 & @ P(E) sim-
(F) 0.37 (W) 0.63 (1) 0.57 (w) g
T g U@ 9R 39T SR @ UT ST 3 Wik I aisig-
1 @% Mo () >
https://www.upboardonline.com

(=) 5



FeT-9 Moy

. (4
gy o e e e
Forl St ot 1 et RO 7 2 o ) 4. et v v e o (e T 8 90 )
() r'r'- at e aifare () Wmmﬁx:_g"sxﬂ 142% 120 31 TGS i
ﬂ‘”‘“ﬁq e - sl o b W s s e (@) £x=62°3i Lxyz=54° § af yo 3 zo FAYI: A XyZ F Lxyz
N L xey & wofedam § & oz Lyoz 91 AR TH AT

forat
(1) 3l ABJJAC £BAC=35° 3ilt

ZCDE=53° /DCE 31 =ifom

(H}ﬁﬁvﬁﬁﬂ?ﬁ@mﬁm@@ﬁﬁﬁﬁémé@wg
= 9 9§19 F wifdrarar 3 #ifem)
{g)ﬁﬁammmp

() 9% - 6X +4F] UGS Hifrgl

ferl 19 Tyt ot T BIC-( Wi U9 4 3 &)
(F) 3x*- 4 - 3x-1 H (x-1) § 977 I | 919G 9% 717 P
{@)(102)*Wﬁmmﬁﬁ$kmm . 5. [ T 9 H g HRT- (R 9 8 i ¥
(7 2x+1=x+35) g Fif 3 ga @ ™ W (%) @ F Fomd, e ok 37w 590, « Mo sk 3 o
(8) (-2x +5y +3z)? 3 TR el 0 7.50 8 ft < = g A = R o 30 @ A a3
ot et Y 5 e AN (e T 4 90 ) ™ iy o
3 1 12:17:15 € 3R I5a 9RAT 540 (@ ;
(@) T Py g @ () 6 TS ABCD 1 &b 31 e el AB=30m BO=4 o
Ao & Fryw 1 &l J i CD= - -
D=4 cm DA=5cm =k AC=5¢m 3
(@) Fre e & A g fofae- 2xy=7 -
A P B *

(m) a2 ABJIAD LAPQ=50° 3K

/PRD=1270 & &l x 3ty &

| D
(H)Qﬁmﬁﬂﬁaﬂamwm'ﬁ%ﬁmmwu
|
arfto e o & @ A A T (PT.0) |
https://www.upboardonline.com

https://www.upboardonline.com



